Operation on sets Venn Diagrams

EXERCISE = £+

1A {01,83,4563, %] B AZ5TAN] L ¢ §o,5,10 2]
?‘ 1) AUR - {g} L, L,2M 5,61,879, H'}

|

|

i) AUC = £0,1,23 4, 5,617,815 2o}

| ti) RUC - §0,35,9,9 10 1, 0]
iv) AOR - 1357}
V) AOC = o, 5}
Vi) Bac = {5}
As RUe  hed EE.I’FW@HJ”(EJ{J*E
As ANB  ha 3 eleents A (@NB) -3
A5 ANC k& elewenls W(A0C) - 3
| A Roc hes | Alemadt N8N

-

E p- {01, A ad € -{a|nent, 12 10]
Given) gr . { 61,234,5,¢7¢ 9, o {
(eonmpleroendof A=A = §3350¢9 10

) A - ﬁfﬂ’}qumdj} oard £ - {N“vhf&’h 4 Eh?fiﬂ's}

Complement o A A - el
| > éﬂ,fj K
Ly A - E bd in Class il of &l Sdools in Rengeliu] ond
Z - {Shadents o Closs Vi of al] Sthails in Bemgelin]


Admin
Typewritten text
Operation on sets Venn Diagrams


Coraplerment of 4 - A"{faiv'l in (o5 Vil) of Al Stheols in Bengelu
V- A= leften of kaLEA | o £ - fletters o KotkaTA ]
Complercrent- of A =A< {01
V. A= §odd natwel mmbess | ard 5 - § Whole rusbers |

C"W)Pk"')a’\l’ Ogﬂ A TA,_— id/ r%b]jé/ ?/|ol]2_,, G ___,f

5 . {n AN and 2¢1<¢3] ad R-Sa AER o q<

A:{u5,6} ad Be 201&3

') AU& E 20')2’/3/‘4/ 56?
i) 208+ §u] \‘b

M)AB? 6(}
W) R-A - o,

4 p-1ohag &f{%ze?ﬁf,
| ') PL@ 2/3/11/ 5/‘, :,/ ‘}

W) pog = 14.5)
i) -8+ 49133}
iv) §-¢ = {18
Yor, JUQ IS Jroper Superict f PNQ b4 Vite vesta 'g;’ms}:sh

(inte A (feins elements ek in &



5 A- {&Hﬁ’ﬂ ﬂ} oy _Ih'fEG,R.'T‘(} []:5 le}fers 5/_ Looid
|
1) AUR - iJJN,’L Eﬁ}gf!}\{; ¢, L}U f

RECkoNING T

i) AoB = $1,N,€6,R ]

L) AR = {T;Y}

V) B=4 ={¢ k0]
a)n(A)=7F N(k)=%
n4-n)-a nN(E-A)=3

N(HOR) = 5 N(AUR)= |o-

n(a)+n(s)-naok)- 3+8-5 -
L) n(Aus)—n(8) = lfe—§ - @ 1y

ne) - n(eos) = #- '; A-8)
¢) N(#AUB)-N(A) = 18- . h(r-A)
n(e) - *}(Hii ;éﬁ - N (R-4)

4) l’]fﬂrﬂ)ﬁ% thaor)= 2+ 3+ 5 = l0=n(a08)

: d EQ?ILJEJMF 2 BT tfai

s ’lirﬂ,lé.ﬁo&{gag«gﬂaf i
- fermIf 2, 30,304 - -~
{5 ( lo, 12,15, 18, 29, 29, M;Iﬂ 3¢ Lfﬂj' Hﬁ

1y AUR =
AOR = {jo}
i) ha)-€, n(s)s ¢, NNt n(awe) - 13

n(p)4n(n)- h(A08) = gL~ I3 =TEALY)



Fr
1) A = P
it) g - ﬁl)zj]} gf;;)ﬂ
i) AUB - § 1,22, NERT!
) AOR = fu ¢ ¢4
| V)A-B = AOR - 11,2%,63,4]
Vi) B-h - BOA'= § ]
ﬁi){ﬁﬂﬁ)': £1,21,5,9,9]
Vin ) AIUE' - il}lxij 5,7,1)
a) (Bﬂﬁ)l: A'OR - 5!!1/3, 5‘,4;04;},:4

b)) KA =3 nK)-d q%
A 0 (9) 274 \ 5) Ve

/) h(anﬂ)m(rm'
nNAnG) = 1§’ ney) = C
| -0 (%) . vesified

¢
4) nww N(R-A)< 0 hlANR)=3

N(A-B)4 N (B-H) +N(AM) = 1043~ J =N(AUR)

£ & :ﬁifléhfjﬁé-fﬂ}JJ%’ﬁ11-‘3!?_'5"} B:47. g2x<8f
s sorayyseisa k] AT {54 RE
R §3,45,¢7 ]

B AUss {3450787 k] Al o124

| (ﬂu&)': zafnf.-?_} | 5"; fo,1,2.8,




| Lexefoe (AUR)'= A'0OR'- §0,1,2]
D pon - §5,695 DA - fo,,134,67 lef
por's fo,42,29,89]
ferefore (a08)'- A'0s’
) A-B =529}
AOR' = 18,910

) -8 =fnub B4 - BOA. &
20A' = §3,4}
1 na): 20, NB)=IC Jnfauabu n®Hae) -7

o
e bres N(AUR)- \‘b’ﬂ)— N (ANE)
&)

o
Jo - 20+

(A :&-—Ja = {.
nAHok)= ¢ { '

b o) N s )7 N
We knao N(AAN(A)N(S)
nea) = -3 13

lr}(e)=12 |

. n(s)-bo nNA): e n(B')=1¢ npue)- 32

| N(B) t(B')-n(s) = NB)-Je—l -2 -
N(R)=2Y

S A-R- AR




npur) -nNH)+ NB)-NAM)
32 = 20t 24- N(ANE)

n(hog) - 44~ 32 = 12

ll’}{ﬁ)r 29 ﬂ{"}ﬂﬁ)-‘JI;{

2 sy, 00020, N7
h n(AUR) = N( %)~ NAL)')

n(w)') =4

= 3d - i =¥
) n(pnm) - n (A1 NH(E)~(AL) &
3 2ﬂ1ari" 2§
> W=t = € (JQ

(n(p00) - §] X‘b.

w)n(a-e) - Ns)g %

=12

| "](W@'w, n(g)- 1L n(Am))-22
i) nia) - M5 )- n(’A') s Yo IS = 2

iy N(R"Y=h(5)-Nn(B) - Y12 > 28

i) h(aas)=niA)n(B)-N(AY8) - WFh
[ 0Y)
npas) = N(S )~ n(pa)) = Yo~ 72 =8

W) N(AVR) - n(A)+N(B)-N(ANR) = 25 412 ~
V) n(h-n)=-nh)- n(hor) - - § = 17
Vi) n(8-A)= h(n)-n(hm)=12-% -y

|

g -1




14 nH-n)- 12 ,n(ﬂ—ﬂ):m‘ nAIR)- 5
;] n(&) illj n{ﬁ) ;Ill'} r]{'ﬂ{)ﬂ')
) N(A-R)-nA)-N(AL)
Ny - 134517
i) N(&-4) = n(Rr) - AL
n(r)- le+5= 2

i) n(aur)- nlA)4h(R)~N(BIZ, @
. 1942l -5 = 383
| n(pvr)= 33 Q
A\
.ﬁ

‘QQ




EXEECICE 1 € 2

', fromy  venne dic?quuc }“"4 !L“"f
1) A ’i“ﬁ;?ﬁ,ﬁ;”i

L) R §85,¢ 8]

iy 3 - §0,,2,45¢ 79,89, 1,12
iv) A= §124 128

V) n' - fo,,4 3,9,

i ‘-'"I)' AUR - ZQ,Q’S‘, ";'J}:‘gfﬁf”j &
| vi) B0R - {5,¢] N

'.I"m:! ({]Uﬂ) {l 4 'IL Q
ix) (hom) = {0, I f@'f 4

>

Vg factahii]

V) pug - {4,k 4,8l
Vi) A8 = 1454 ¢S

| Giy(pug ) = § ¢, 1}



3
)2 :=901324,5678 g, 4,00, 11,17

| iy A0R ?iﬂ, 5;&‘}

i) Aor0C = §0,5 ]

| W) 2t 5 {QJ:}{E:}JE{”}IL}
1 V) A-¢ = poc' - % g, 10}
LTSN UER EX ALY
Vil) (~B= C AR = g 3,H,f-’}

! ‘ z-ﬁ [ }

) (ALRU c)

45 Al aen, x-an, 01'5% ?IHCN' 7-4n, nes}
A:q2,44 8, m Y,

i) P vew, )l,h,ﬂ} R, mgfﬁ.:huo! 3fo ]

i
| p-o1,234,502,8 Q 393754



|

Al n
Y 6
€ 9

5',
n(): 22 n(e)=18  nN(HANR)- 5
A - [
B 17

) N(AUB) = 1345413 = 3§
i) n(a-r) = N(H)—nN(AOR) -
i) N(&—#) = H(B)— N(ANGsg

|2
c=%

S

&onw) = a5 N q g)- ¢, nlaon)’)5

N neaos) = 1916 o =38

i) N(&) = n(AvB)+N((Avs)) = 354540
i) N(H-8) = n(p)-h(AOR) = A5-6 = 19
) neg—p)-n(s)-n(ANR) = le-€ = Jo



7> r’(%)z% r)(;)')_.:; n(r)=lo L CA

i
| AR Chadid
ne) - n(%),r)(g') - A5 —7<18 &
N(A-8)= Ny -nBOR) - 18-l e
ir €.

r (adinal  Number o/ fet

NG

' Juttatl 5

)No- of boys  tho f"“‘/ Ablead- one 4 fre b game
= 1) (O “Cricker ) 1) (only Joobtall ) 4 (sl CikE sfopsct)
* e tld1 5

e 373
i ) Neithes  Cackel  hov 7L4 Lal |
N((AR)') = Tefd Shdent = KAvE)
; s bo -~ 17 =12 .




40

| One
i > Banws | b Venna Dicgram

l P

1) Rt "”"*"‘}* and ﬁa')ﬂf\‘!'
h(/)f\&) e of fMenH Oho [ite tofr ofangt ard Baney

= he 07( fhdet he like ovan ho- o[ Shdet
ke [ike oY=ny L)
QQ heof- Lansng

!

c 38 - A
- ¢

) N(B)=9
N(AVR ) - r)(& - (40R)
n(a Qgg—fé q( 22
'\q-ﬂ%@ih\l‘ ke I'L( nL; L‘s’)Ar\a = )4 <

=&

| lo- 7 ;

:

B&rf‘f-lf éru" lish

4

| NAMm) = A |
' n(sur) = N(4)tN(E) ~n(4Nk)



éO = L‘{‘]'Qg"?(
A= 13-¢o

=17
SN of P“’P" who f’)eak bofr Bengali and sr\«;l-'ﬂo e

it




